
 

Solution to ECE Test #10 S08 #1 
  
Above each pole-zero graph write in the letter and number of the corresponding 
magnitude frequency responses and unit sequence responses. 
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Solution to ECE Test #10 S08 #2 
  
Above each pole-zero graph write in the letter and number of the corresponding 
magnitude frequency responses and unit sequence responses.  
 
    A1          E5   D2       B4             C3 
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Solution to ECE Test #10 S08 #3 
  
Above each pole-zero graph write in the letter and number of the corresponding 
magnitude frequency responses and unit sequence responses. 
 
     C4          E5   A3        D2            B1 
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